Get out your homework from last night. Grab a half sheet from the
front table and start warming up. We will have a target check
tomorrow on constant rate of change and slope.

Classwork - Slope Practice Problems
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Find the slope of each line. The varinble m represents slope.
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The points given i each table he on a line. Find the slope of the line, Then graph the line.
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Find the shopgsl the libe that passes through umr points.
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12, SNOWFALL Use the graph at the right. It shows the depth snowfall
in feet of snow after each two-hour period daring a i —
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b, Does the graph show a constant rate of change? Explain. i
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c. If the graph is extended 1o the right, could you expect
thi 1:I-r|p|: o renain constant T Explain.
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d. Is the relationship betwoen the depth of the smow and
the numbser of hours directly proporiional? Explam.
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Independent Practice #2-8, and 10-12. If you get
done with that work on #15 - 22

Find the slope of each line. [Fxampie 2)
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The points given in the table lie on a line. Find the slope of each line.
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Find the he line that passes thmug/lre%h pair of points. (Fxample 4)
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10. 2 Multiple Representations For working 3 hours, ( h,qd-f S J 35)

Sofia earns $30.60. For working 5 hours, she eams $51. 80
For working 6 hours, she earns $61.20. (9) %ﬁ+ h% 10 4 r'-)
a. Graphs Graph the information with hours on the ! ‘b‘
horizontal axis and money eamed on the vertical (E, 1 60
axis. Draw a line through the points. \,L 50
b. Numbers What is the slope of the line? % lh ' 40
(O. 8 E 30
c. Words What does the slope of the line represent? 20
How d:%[hi slope relate to the unit rate? 10
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1. (O Find the Error Jacob is finding the slope of the line that -+ L%;S'l
passes through X{(0, 2) and ¥4, 3). Circle his mistake

and correct it. -.l’— %1-30 hﬁ







